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Directions :

The following six (6) items consist of two
statements, Statement I and Statement II.
You are to examine these two statements
carefully and select the answers to these
items using the code given below :

Code :

fa) Both the statements are
individually true and
Statement II is the correct
explanation of Statement I

(b} Both the statements are
individually true but
Statement II is not the correct
explanation of Statement 1

(c) Statement I is true but
Statement II is false

{d) Statement I is false but
Statement 11 is true

1, Statement [ :

In Kelsen’s view, there is no
difference between natural and
Jjuristic persons.

Statement II :

The totality of claims and duties is
the person in law.

2. Statement I :

Person of inherence is the owner of
- the right,

Statement II :

Inheritance is a means to
ownership,

N-DTQ-K-NCY/10A

3. Staternent I :

Possession is Nine Points in law.

Statement II :

Possession cannot be interfered
with by anyone except by the one
with a better title.

Statement [ :

Subject to rules of jus cogens, local
customary law can supplement or -
derogate from general custom.

Statement II :

International law does not
recognize the concept of local
custom.

Statement I :

A person, who moves to a place
- nearer the place of nuisance, can
complain of nuisance.

Statement II :

Coming to the place of nuisance is
a good defence.

Statement I :

In an action for malicicus
prosecution, it must be proved
that the  defendant had initiated
criminal proceeding maliciously
and without reasonable and
probable cause.

+

Statement II :

Action for malicious prosecution is
instituted in a criminal court.

r
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7. The Supreme Court of India, in the
case of A. K. Gopalan vs. State of
Madras, decided that the
expression ‘procedure established
by law’ in Article 21 of the
Constitution means “any procedure
prescribed by law, irrespective of
its reasonableness or otherwise”.
Which one of the following
approaches did the Supreme Court
follow in the above case?

(a} Positive law school approach
fb) Historical approach
(¢} Sociological approach

{d) Philosophical approach

8. Consider the following statement
made by Sir Frederick Pollock :

If international law were only a kind
of morality, the framers of the State
Papers conceming foreign policy
would throw all their strength on
moral argument. But as a matter of
fact, this is not what they do. They
appeal not to the general feeling of
moral rightness, but to precedents,
to treaties and to opinions of
specialists,

In which one of the following cases
is the above statement of Pollock
true?

{a) Developed countries

(b} Developing countries which
constitute Group of 77

(¢) Socialist countries

{d} Developed countries, Socialist
countries and Group of 77

N-DTQ-K-NCY/10A
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Under which of the following
conditions, the right to claim
damages in tort would arise?

1. Infringement of a legal right
2. Legal damage

3. Any damage

4. Existence of a legal right

Select the correct answer using the
code given below :

Code :

{a) 1 and 2 only
(b) 1, 2 and 4
fc) 1,3 and 4

{d) 2 and 4 only

10. Which of the following is/are

inchoate crime(s)?

1. Attempt to commit a crime
2. Criminal conspiracy
3. Theft
4

Murder

Select the correct answer using the
code given below :

Code :

fa) 1 and 4
(b} 1,2 and 3
f¢) 1 and 2 only

{d) 2 only

Educational Material Downloaded from http://www.evidyarthi.in/

Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers




7. VT ¥ IATH ARE A To o TURE
.M TE™ TS % ar # foffla fen &
gfam & 219 e A fafy T
onfg whem’ =1 aid € Rl g Bk
wd f wirm soh ghegwa @1 &=
fpe B W s’ W AR H IR
=marer 3 Frafafaa # @ fr o we &
e Bt

(a) mﬁmwm
(b) sfoETEAE I

{c) CHITTEIE JATH

(d) <t 3awm

8. W ¥ qdl® & Frafafan +97 W
ﬁﬂﬂ'iﬁﬁ‘lﬁ:

e ity Ay & @@ # Afwa
g, @t few it @ g=fta o9 F
FFFA-TA F [ F0 ard s gl
wifts Aftora gfer W oma | weg arwrd A
IER w7 5T fbar 81 37T HTE Hawar
F e # wmr wET # w98
Hfig i, il ot gl #1 79
¥ forg et

N @ 98 wud Teafafaa & 8

ant & wdt 37

(a) Taamfe@ <o

(b) TammE @ S 77 % wWE W6
ufea #@ 3

(c) WHERT 30

(d) Tastaa 2w, warsEd 3w ot 77 &
Rk

N-DTQ-K-NCY/10A

5

o, finfafem & & Fm-¥ iferfedt #,

g # gl 1 7% Ye1 w87
1, faftrs srferm = srfoerem

2. faftes sfa

3. =i+t &fs

4. fafues wrfteer = fevm B

ﬁmw@mmﬁﬂﬁw
IR

¥ :

(@) et 1 3R 2

b} 1,234

) 1,334

(d) et 2 ol 4

10. Prafefe & @ Fe-w/A gyl g

2187

1, TG H H I
2, AT TgTA
3. =@

4. T

¥ R g g2 w1 wEm SN

ELLE (

HE :

{aj 1 3R 4
m) 1,233
() ¥ 1 3R 2
(d) I 2

[P.T.O.

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers




11. Which of the following statements
with regard to contract is not
correct?

(@) The acceptance should be
made in the manner prescribed
in the proposall But a
departure from that manner
does not itself invalidate the
acceptance. A duty is cast on
the offeror to reject such
acceptance within reasonable
time and if he fails to do so, the
contract is clinched on him
and he becomes bound by the
acceptance

(b} An  acceptance containing
additions, limitations or other
modifications shall amount to
rejection of the offer and shall
constitute a counter-offer

fc) 1t is not open to an offeror to
stipulate against an unwilling
offeree that latter’s silence will
be regarded as equivalent to
acceptance. He cannot force
him to take a positive course of
action under penalty of being
contractually bound if he does
not

(d) An offeror would not be bound
by a contract, if the letter of
acceptance posted by the
offeree is lost in transit and
thus is not received by the
offeror

N-DTQ-K-NCY/10A
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12. Which of the following statements
with regard to financial emergency
in India is/are correct?

1.

It is required to be approved
by both the Houses of the
Parliament within one month.

Once approved by both the
Houses of the Parliament, it
remains valid for six months.

Salary of any government
official including the Supreme
Court Judges can be reduced
during financial emergency.

During financial emergency,
the executive authority of the
Union shall extend to the
giving of directions to any State
to observe such canons of
financial propriety as may be
specified in the directions.

Select the correct answer using the
code given below :

Code :

(a)
(b)
(c)
(d)

1,2, 3 and 4
1 and 4 only
3 and 4 only
3 only

13. Which one of the following is not
correct with reference to John
Austin’s Command Theory?

(a)

(B)

(c]

(d)

Divine Law is law properly so-
called

The law of honour is law
improperly so-called

Laws of gravity are laws
properly so-called

The laws set by fashion are
laws improperly so-called
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14. Treaty, generally speaking, binds

States, which are parties to the
treaty. A State becomes party to the
treaty by

(a} signing the treaty
(b} ratifying the treaty

(¢} enacting domestic legislation to
implement the treaty

(d) enforcing the treaty by way of
conduct ‘

15. Which of the following statements

are correct?

1. In tort, the duties are imposed
by law whereas in contract,
duties are undertaken by the
parties themselves.

2. In tort, the duty is towards the
world at large but in contract,
the duty is towards specific
individual or individuals.

3. In tort, damages are liquidated
but in contract, the damages
are unliquidated.

4. In tort, a person may be liable
for the wrongs committed by
others also but in contract, the
liability governs the parties to
the contract only.

Select the correct answer using the
code given below :

Code :

{fa) 1, 2 and 4
(b) 1,2 and 3
fc) 2 and 4 only

(d) 1 and 4 only

N-DTQ-K-NCY/10A

16, Under Section 100 of the Indian

Penal Code, the right of private
defence of body extending to
causing death is not available
against an assault

(@) causing  apprehension -~ of
grievous hurt

(b) with intention of gratifying
unnatural lust

(¢) with intention of kidnapping or
abducting

(d} with intention of robbery

17. Which of the following statements

is/are not correct?

1. Stranger to the contract cannot
sue in both English and Indian
Laws. '

2. Stranger to the contract can
sue in both English and Indian
Laws.

3. Consideration can move from
promisee alone in English and
Indian Laws.

4. Consideration can move from
promisee or any other person
in Indian Law.

Select the correct answer using the
code given below :

Code :

fa) 1 and 3
(b) - 2 and 3
{fc) 1 and 4

(d} 2 only
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18. Consider the following statements
with regard to human rights bodies :

Charter-based bodies

1. hold broad human rights
mandates

2. address an unlimited audience

3. Dbase their decision-making on
consensus

Which of the statements given
above is/are not correct?

(@) 1,2 and 3
(b) 2 only
fc) 1 and 3 only

(d) 3 only

19. Which of the following statements
regarding the Command Theory of
John Austin are correct?

1. Expression of a wish or a
desire by the commander is
essential but style of desire is
irrelevant.

2. Magnitude of the eventual evil
is irrelevant but slightest
chance of incurring slightest of
an evil is relevant.

3. Command and duty are
independent but not
correlative to each other.

4. Power and purpose of inflicting
evil are relevant.

N-DTQ-K-NCY/10A 10
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Select the correct answer using the
code given below :

Code :
{a) 2 and 4 only

(b) 1, 2 and 4
fc) 3 and 4
(d} 1,2 and 3

20. According to Article 38(1) of the
Statute of the International Court

of Justice, which one of the
following is not a primary source
of International Law?

(a} International conventions

(b} Decisions of the International
Court of Justice

-{c¢) International custom

(d) General principles of law
recognized by the civilized
nations

21. The liability for tort arises on

1. violation of a right in rem

2. violation of a right in personam

3. breach of a legal duty

4. breach of an equitable
obligation

Select the correct answer using the
code given below :

Code :
(@} 1 only
) 1 and 3

¢ 2 and 3
{d) 3 and 4
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22. Which one of the following
statements about the UN Expert
Mechanism on the Rights of
Indigencus Peoples is not correct?

fa) The Mechanism has been
created by the United Nations
Development Group

(b} It is a subsidiary expert
mechanism of the Human
Rights Council

{c) It provides thematic expertise
on the rights of indigenous
peoples to the Human Rights
Council

(d) The thematic expertise focuses
mainly on studies and research-
based advice

23. A proposal is not revoked by

fa) lapse of time prescribed in the
offer for its acceptance

fb) lapse of reasonable time,
without communication of
acceptance, if no time is
prescribed in the offer for its
acceptance

{c) death of the offeror even if the
offeree in ignorance of this
fact sends communication of
acceptance

{d) counter-offer

N-DTQ-K-NCY/10A

24. Which one of the following

statements with regard to the
pardoning power of the Governor is
correct?

fa) The Governor can pardon the
death sentence

fb) The Governor has no power in
relation to death sentence

{¢/ The Governor can only
suspend or remit the death
sentence

(d) The Governor can only
suspend, remit or commute
the death sentence

25. Which of the following are essential

tenets of Pure Theory of Law?

1. Legal system consists of
hierarchy of norms.

2. Legal system consists of ought
propositions.

3. All norms receive their validity
ultimately from a grundnorm.

4. Morality is vital for purity of
law., ’

Select the correct answer using the
code given below :

Code :

@ 1,2 and 3
b) 1, 3 and 4
(¢} 2 and 3 only

(df 1,2 and 4
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26. On which one of the following 28. X, an officer of a court of justice,

grounds, the International Court being ordered by that court

of Justice declined to accept to arrest A, and after making
Columbia’s contention in the due enquiry, believing B to be A,
Asylum  case regarding the arrests B. What is the criminal .
existence of a local custom relating liability of X under the law?

to grant of diplomatic asylum? '
(a} Liable for the offence of
fa) Short duration of State wrongful confinement of B
practice '
(b} Not liable for any offence as he

fb) Lack of uniform and constant acted in good faith under _

usage , mistake of fact, which is, a
fc) Lack of universality of State defence under Section 76 of
practice the IPC
{d) Opposition of powerful States {c) Not entitled to the benefit of
mistake of fact as he has not
27. Match List-I with List-1I-and select . acted in good faith
the correct answer using the code S
given below the Lists : (d} Liable, because his act is a
mistake of law and not mistake
List-T List-II ‘ of fact
(Case) (Tort)
A. Donoghue vs. 1. Defamation 29. When a man advertises that he has
Stevenson stock of books to sell, he is making
B. Cassidy vs. Daily 2. Joint tort
Mirror Newspaper feasors {a) an offer
C. Merryweather vs. 3. Negligence _
Nixon (b} an invitation to offer

D. Bird vs. Jones 4. False

) . (s ecial offer
imprisonment fe) asp

Code : ' (d) a standing offer
(@) A cC D . '
4 1 2 3 30. Lack of locus standi is generally not
a bar for issuance of the writ of
fb) A B C D
4 2 1 3 (a) Mandamus
fcg A B C / D (b) Quo warranto
3 2 1 4
f¢) Certiorari
(d A B C D
3 1 2 4 {d) Prohibition
| N-DTQ-K-NCY/10A 14
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26. ﬂm@ﬂwﬁﬁm%ﬁaaﬁﬁﬁm

. T YR W TSRS IR0 WEH R W
mﬁmmsﬁ%uf&m%aﬁﬁ
I AR (RS H6) T Ratam &
yfafady = Ewr F@ 4 TRE W
fem?

fa) TS e wrAE & forg s
(b) T T THEAA 3T Gad A T

o) T FH R § wEspfeear
i

(d) Tirame Tt 1 faty

28, T & SRR X, A @ finwan &=

¥ fe 3w e g e R s
W, R @y S F vaE 78 A
% % B, AR, BH fRER & o 2|
fafu & x %1 o s i @7

@) B % v ofdw ¥ smua % R
ft &

(o) et a3 for <rl A g,
Fitfh I A e B
¥ srata Fnf e, S WA @8
dfear A w7 76 F A T

7 feran &

27. g1 N -1 ¥ gafam Hifm (c) Egﬁ;ﬁa@%mﬁmgﬂ
gt F A= Re 1w w1 wWn w @ .q‘@‘im AT
e (@) mmmaﬁa@q—mﬁm
T TR-1 1 gt & gef a8 <l o
(A=) o (vrEe) »

29, W& WhH oAh fogmd 2@ ¥ R o3ed ww

‘A‘leﬁaTriqu - ﬁ*mwﬁﬂm%a}m

g a1 =9ar £7
- fﬁu:;r?:;m NG a) T
C. AR FAm e 3. 3¥En (b) g*‘w
D. w4 g ST fe) et
: - (d) Tl yE
e :
(@ A B C D 30. T 99 % afeR # Fh F 1 AR
4 1 2 3 frg fe % Wit e W @ a T
i) A B C D HA?
4 2 1 3 {a) TERH
g A B C D )
3 2 1 4 HHftrRg=an
vfd A B C D fe) ST
-3 12 4 (@ Rdw
N-DTQ-K-NCY/10A 185 (P.T.0.
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31. According to Sir Henry Maine,
through which of the following
instrumentalitiecs do progressive
societies (unlike static societies)
proceed to develop law?

1. Codification and legislation

2. Royal commands, custom and
codification

3. Legal fiction
Equity-and legislation

Select the correct answer using the
code given below :

Code :

fa} 1 and 3
(b} 2 and 4
(¢} 4 only

{dj 3 and 4

32. On the issue of legality of the threat
or use of nuclear weapons, the
International Court of Justice in the
year 1996 advised that General
Assembly resolutions concerning
prohibition of the use of nuclear
weapons

fa) establish opino juris necessary
for the existence of

¥ intemational custom

(b} fall short of establishing opino
juris for the existence of
international custom

fc/] create political effects only

(d) create ethical effects only

N-DTQ-K-NCY/10A
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33. In the case of Indian Council for

Enviro-Legal Action vs. Union of
India, it was held that the rule laid
down in M. C. Mehta case was

fa) not a departure from the law
applied in Western countries

(b) an obiter dicta and was
appropriate and suited to
conditions prevailing in India

(c/) not obiter dicta but was not
appropriate and suited to
conditions prevailing in India

(d) not obiter dicta and was
appropriate and suited to
conditions prevailing in India

34. X instigates Y to murder Z. Y in

pursuance of the instigation stabs Z.
Z recovers from the wound.
Which one of the following is the
liability of X?

fa) Since essentials to constitute
an offence of abetment are not
fulfilled, X is not guilty of
instigating to commit murder

(b} Z is alive and hence X is not
guilty of instigating to commit
murder

(¢ X is guilty of instigating Y
to commit murder even if Z
recovers and does not die

(d} Bince death of Z does not
ensure, the criminal liability, if
any, will be that of only Y




31. W ¥ A & rqEw, Fafaflen 3 9./
Mm% g wiieeie wAe (Rl
| % 3EaE) it =t fewlm = €7

1. wigameew i faum

2. W RE, wf ok dhaeo
3. fafus wewn

4. , gy R faum

R e W T W WM w oE W
EGLE

He
(@ 133
(b) 23R 4
c) HTA 4
(d) 334

32. Mg el & W @ @At f A &
T W T 1996 # Taivid A™EE 3
Tome @ fF Afehm st ¥ WM &
TRy | wafm g g%

(@) I<iE ®R F afemm & fg
amawd fafdds i @ (opino
juris) F T w1 §

(b)) TR sl & ofe % fag
amavs faftew & W (opino
Juris) F TG HA T w0 R

(c) Faw weafe wiom ge R 3
(d) e FerE Ao g F &
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33. mﬁmﬁaww@mw

M AR 9 & a7 7 a7 affuiia
e o & wo die WEwr & Ak B
fryita fem

(a) ufipht Uet § e B awh Ry @
IR e ?

(b} TH TARE R @ A FEmE
wRiEfrat § wgfim i aeifa

(c) FAIRE T ¢ Al sma A fremm
wRfefodt # wgfua o auifum
2 |

{d) zaifs a8 ¢ it wra f frmm
gideufeat # wgfea ik aafem @

34. X, Y& Z & g FR % Tore IwEm B

Y IHEEE % AW § Z F T
2 Z% 9a &% & I 1 X FmfeRaa
# ¥ o forg <t @7

(o) X T W Fha & g Iwam
A T e, e g &
que H MewEEwst fi gfd T
we

(b) Zﬁiﬁl%laﬂ‘( 3@: X Bl & Hia
0 % g IHE # A A 8

(¢ R z 3 g § o SEh oy
- @t At R, R, Y g i
F & foTT SHaM & fT X < &

(@ wif z B ue gk A L,

AUt ofie, R #E B, @
%ad Y 8 am

[P.T.O.
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35. Which of the following statements

is/are correct?

1. Counter-offer puts' an end to
the original offer.

2. In counter-offer, the previous
offer can be revived.

3. Acceptance must be absolute
and unqualified.

4. Acceptance with new terms is
valid.

Select the correct answer using the
code given below :

Code :

{a) 1 only
(b) 1 and 3
fc¢ 2 and 3

{d) 3 and 4

36. The original jurisdiction of the

Supreme Court is not attracted in
any dispute between

{a) the Government of India and
one or rmore States

(b) the Government of India and
any State or States on one side
and one or more States on the
other side

(¢ the Government of India and
citizens or private bodies

{d) two or more States

N-DTQ-K-NCY/10A

37. According to Roscoe Pound, which of

the following situations do/does
not depict conflict . between
interests in the same plane?

1. Right to abortion of woman vs.
Right to life of child in the
womb

2. Right to privacy of AIDS patient
vs. Right to health of fiancée

3. Right to livelihood of prostitute
vs. Right of society to be free
from immoral surroundings

4, Right to self-determination vs.
Right to conjugal relations of a
spouse

Select the correct answer using the
code given below :

Code

fa} 3 only

{b) 3 and 4

fc¢) 1 and 2 only

(d) 1,2 and 3

38. International usage translates into

international custom only if

fa) followed by the States for a
long time

fb} consistently and uniformly
followed by the States for a
long time

fc} uniformly followed by the
States with the belief that
States are bound to follow it

(d} States have the belief that they
are bound to follow the usage
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35, frafofaa & B w-41/8 S ad /37
1, vi-wemE 9@ weEE f g W

a1 31

2. wo-weaE #, Tod www = W@
yafdd & 9 31

3. il i ot o o % B
=ifeu)

4, 7 el & g el 9u g

R R o @ oW W A
gf

%2 :

fa) adA 1

(b) 1R 3

] 233

(d) 334

36. e fiv & ot fome # a=mm =R
F wfirw s smsia Tt gd?

() T WO SR T T AR e

(b} TF 3R 9Rd WER I’ T ;W
afte = ot @@l IR wE W
At 3 T

c) YRE WX 3R AWiE qT Wigae
[ECaE]

(dj W AftE T

N-DTQ-K-NCY/10A
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37. Ul wiwsg & orgeR, frafefae #4: @

- sraferfy/safdfat qum ' &
feat & fodly = b =dt el B/87

1. = =1 miud =R F1 afiwr W

miey firg =1 Sfiem @ arfew

2. AIDS & WIS ® WA &
HAYFR TW AW F I W
3TRR

3. aEn % Afde w1 sfer s
TN W efeE wfadw B g BR
#1 ften

4. wen-Pts w ARER T afa/
el & T fgdt @61 sifteR

=2 Ru m = = W | A W
R

HE ¢
(aj %ad 3
(b) 3R 4
c) Faew 1R 2
(df 1,23R3

'38. IFRE W s w©fg # Faw ooft

Fganed gl 3 .
(@) & TSAt g1 @ B9 qF it
S

(b) & TG 3 T WHY 9% UHHAH
3R Haaq uifera &t e

fc) 9o Tl g@ 3@ RAm % oAw
THEAH T s ST R Tew 3w
| qIER T A G B

(d) v& s %8 fyaw e § % 9 g
F] I FTA ) AEG &

[ P.T.O.
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39. 'Which one of the following is the ratio
decidendi of the case of Rylands vs.
Fletcher?

(a)

(b)

(c)

(d)

A person is liable if he brings
on his land some dangerous
thing

The liability arises not because
there was any fault on the
person but because he kept
some dangerous thing on his
land

Even if the defendant was not
negligent in causing the harm,
he could still be made liable
under the rule

A person, who for his own
purposes brings on his lands
and keeps there anything
which is likely to do mischief
if it escapes, is prima facie
answerable for the damage
which is the natural conse-
quence of its escape

40. Consider the following statements :

1.

The Preamble of both
International Covenant on
Economic, Social and
Cultural Rights {ICESCR) and
International Covenant on Civil
and Political Rights (ICCPR)
recognize that all human rights
are interrelated, indivisible,
interdependent and equally
important.

ICCPR recognizes the principle
of Progressive Realization,

ICESCR is monitored by the
UN General Assembly.

N-DTQ-K-NCY/10A

Which of the statements given
above is/are correct?

(a)
(b)
(c)
(d)

1, 2 and 3-
1 only

2 and 3 only
1 and 3 only

41, A contract by post is concluded at
the place

(a)

(b)

c)

(d)

42. Which one of the

from where the offer had been
made

from where the acceptance had
been posted

where the acceptance had been
received

where the goods are to be
delivered

following

statements is correct with regard
to appointment of the Judges of
the Supreme Court of India?

(a)

(o)

(c}

(d)

The Chief Justice of India {CJI])
should consult a collegium of
four seniormost judges of the
Supreme Court

Even if two judges of the
collegium pgive an adverse
opinion, the CJI should send
the recommendation to the
government

The opinion of the collegium
may be different from that
of the CJI

Every judge of the Supreme
Court is appointed by the CJI
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39. frafifas § § BH-H TIAUS T4 R
F ae w1 Rfem-amam 37

(a) =€ aafh, S I 9 T GO
Iwg @ g, ety

(b) W gufer s@ W A
=t 6w gR 2, g wafde &
IE AT g W @aEE awg Wl
?

¢ @ gl ufrad & G e @
it & g %, @ fam & swia
Iaah T oft Frer sgan s asal
?

i e < 3R e & FASH H
for aroeft yfy @ =i U <fi e
Taa @ Wt AR Frea s il o
" e §, A w7 sufn e e e n
d 8 I Wpfew i % w9 A

g Tadht & fog wm gesw
Iwert 2

(@)

40. f=fatas st w fa=m fifeg .
1. s anffs, wmfe w@

wighE  aRmR W sERm

(ICESCR} 3 =gl amie ik
Torifes orfteet W wEfdEn
(ICCPR) &t Ifira @2 Wier =t
T B it are fter wwm-
ralam, enre, wER-fefc st
TAE ¥ & Teaql €|

2. ICCPR Wt Iqafsy & figm=a =
R w0 B

3. HYH g H HEWW ICESCR &1
it i 21
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It ol & A HA-w1/d v /¥
(a) 1,2aﬂ13' " |

(b) FA 1

() Faa 233

(d) =@ 1 3R 3

41. s g0 Efae fra M w fPeafde 2
27

i

(a) & & weara ffda gon on
(b) &l @ wiepla wt g6 # SN T @

(c) T&i v et g A
i’
(d) S R T B ggEnE SR

42, WG ¥ I=dH @A ¥ FEEa f
Jfagfe ¥ ar & fafafes 4 9 FR-w
T FUF adl R7

(o) Y@ & T AEgfd ® I=an
e % 9R e A H
rftrareht wfify = womef @ =i

() =g s |/fify & @
I yRga w@ e @, e F g=@
=i F gEE TET BN
ifeg

(c) R afify =1 @ WA F e
wﬁ%mﬁﬁaﬁm%

(d) IS TGS I T AT W

% ger =yl T g g @

(P.T. 0.
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43. Consider the following -paragraph
with regard to weakness of a theory
of possession and identify the
theory with the help of the code
given below :

It looks at possession from the point
of view of interdicts and therefore, it
is incapable of explaining the cases
where law refused ‘possessory
rights’ to the persons who were in
effective physical control. The cases
in which the persons did not look like
an owner (in relation to a thing) but
for certain purposes, law recognized
them to be in possession cannot be
explained by this theory.

Code :

(a}) Savigny's theory
{b) Thering’s theory
{¢/ Rousseau’s theory
{d) Holland’s theory

44. Which one of the following principles
was applied by the International
Court of Justice in the North Sea
Continental Shelf cases involving
disputes concerning delimitation
of continental shelves of Federal
Republic of Germany, Denmark and
the Netherlands?

{a) Equidistance principle which is
part of Geneva Convention on
Continental Shelf, 1958

(b} Proportionality criterion on the
basis of equity which is general
principle of law recognized by
civilized nations

fc) International customary law

(d) Equidistance and equitable
principles

N-DTQ-K-NCY/10A

45. Generally, tortuous liability has an

element of fault to support it. In
which onec of the following Acts,
recently a provision has been made
in India, which provides for meeting
claims arising both on the basis
of fault principle and no-fault
principle?

{a} Factories Act

(b} Motor Vehicles Act

{¢) Workmen’s Compensation Act
{d) Public Liability Insurance Act

46. Consider the following statements :

1. In the case of Mithu vs. State
of Punjab, the constitutional
validity of Section 303 of the
IPC was examined by the
Supreme Court of India and
held that this Section violates
Article 14 and Article 21 of
the Constitution,

2. Counsel for appellants/
petitioners in the above case
contended that Section 303 of
the IPC is arbitrary, because it
authorizes deprivation of life
by an unjust and unfair
procedure.

3. Section 303 of the IPC provides
punishment for  culpable
homicide by causing death of
person other than the person
whose death was intended.

Which of the statements given
above isfare correct?

fa) 1 and 2 only

(b) 1 only
{¢/ 1,2 and 3
(@) 2 only
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43. F ¥ Rrera & suaiwa (Freaw) F an

# fraferias oiede v fem @S sl
¥ fer T gz H wEEw | W e
1 IFETY

¥

7w A By & e @ dwm #

s gafoe 98 37 aEl @ = reEr d
sramef & sl RfY 3 37 =afrgl & F=
& aftprl’ #t AH WA
ywEt sitfas Agawr g1 vd a e
=for @t # wE 8 Rad (fFd awg
#F gf #) oy whreg yaeAl & o
faftr 37% F= &) EwR F@l 8, 9H

54 frgra @ e 76 # 5 ww=

%®e

(a) Bk = R
(b) i @ g
(c). &= =1 g
[a) B<ie 7 e

“44, Y@ fufcs sife sdf, SToEs 3R

Frewtvg & o=, meEda e 4 &

ofet A iR ferl #t emi

F I IW TR AR e 4 &

gl # g mmaee A fefafae §

2 fra v Rrgr=r Y A R on?

(@) TR T w1 g, s wEEd

C mde g Rvas e i,
1958 =t femm &

(b) T F, S T Y FW A faiy
& emE R 8, WYR W

TR HIAEUS

(o) U wiew fafy

(@) = g R vl R

N-DTQ-K-NCY/10A

23

45. WHTE: IUFE % U@ HIR F AW

wiite 8 2 W 38 wmile e R
frefafaa @ @ T o srfafam d s

 H g @ 8 7 3umy T 0 @ S gl

frgra 3t 7-3R fagra At % amum w
T T Tt gE! < g s /7

L {a) FREH SR

(b) TRI-TE AffEm

fc) T witet srffaam

(d) < <M oo erfafem

a6, Prfeas Fol T R S -

1. ¥Nd % W e 4 iy aam
o ST % 9 R Owm 9o
wEa@ R uR 303 H wifaahw
Aeren @ witewr T o arfwfruifa
fra f% a3 o ofum & Rk
14 3iK a1geds 21 1 IguA wl
{ ,

2. afienidat/afeat & wenkmr G
Idw I # widar fean i wwdia
gve dfem 1 ymr 303 wAWEL ¥
Hifr a8 TamyE 9 g e
U ffem & k@ FE@ F wiga
EoGiRd

3. W T "@fa S g 303 #,
fw =fe A gg wf@ F@ =
s o1 el e s @l g
T OIS AFE oY & g gug
wauA el L

I Ful |/ FA-T/D /@ 8/R0

fa) FaF 1 32

(b) FaA 1

) 1,233

(d) Fad 2

) [P.T.O.
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47. Which one of the following
constitutes an offer?

fa) Display of goods with price
tags in a self-service shop

(b) - Advertisement announcing a
reward of Rs 5,000 to any
person who would find the
missing dog of the advertiser

{c) When a man advertises that he
has a stock of books to sell at a
flat rate of Rs 100 per book

{d) An auctioneer’s announcement
that specified goods will be
sold by auction on a certain
day,

48, Whenever the Constitution requires
the ‘satisfaction’ of the President for
the exercise of any power or
function by him, it means

(@) the personal satisfaction of the
President

(b) the satisfaction of the Council
of Ministers

{c) the satisfaction of the Members
of the Parliament

{d} None of the above

49. Which of the following are theories of
punishment?

1. Pure theory
Deterrent theory
Declaratory fheory
Expiatory theory
Retributive theory

U

N-DTQ-K-NCY/10A

Select the correct answer using the
code given below :

Code :

%

fa) 2 and S only
(b) 1,2 and 3
{¢) 2 and 4 only

(d 2,4 and 5

50. An executive action taken during

national emergency in violation of
Article 19 of the Constitution of
India

(a) can only be challenged during
the emergency

(b} can only be challenged after
the emergency is over

fc} cannot be challenged at all

(d) can be challenged during or
after the emergency

51. Under the Law Reform (Married

Women and Tort Feasors) Act, 1935,
the judgment against one tort
feasor shall

faj be a bar to an action against
any other person

(b) not be a bar to an action
against any other person

{(c) create proportionate liability

(d}) not create proportionate
liability
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47, fafifaa # @ e @ @ wam fabda
g ®7

(a) EE-¥E1 gEA F Pwg gg @h
el a0 @y fomom Afva
w1 5 W @ g I H# W
T et =afe | 5,000 @ #
gR o smom -

% Y AR a8 fage s g
IGF U 100 T W g &
TR W W I & g @
w8

et fremeat ft g omwon f6
fiffe aoe v faltre @ «t ek
T A= s

(b}
{c)
(d}

48, 5@ = ot dfaam wgEfa A, 7 T
fh ofte e 70 & WM ¥ o,
‘Y’ it s Far 2, A g T oY
27

(@) gl H R g
) iR g

(c) §HG % waedl 6l gt
(@) SwH AR

49. frfifem # ¥ #9-% e ¥ frgma 27
2. fiams e
3. e frgr
4. wmfufrs g
5. s frer
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2 v moE W owEm W oER W
"'jﬁ'Q

-

(a) Faer 2 3 5

() 1, 233

fc) ¥ 2 3R 4

(d) 2, 43M5

50. TG WM & <NF WHd & HREUA F
ag=de 19 & otfmr F i W
FrfqTierem T |

(@) Faa W@ F O & AT
Thd & '

(b) FEA UE F WA B W& gy
AERA G -

(o) Torerge sndm 7t w W

(d) T % ATA T YN DY W AT
TR E

s1. Bt gm  (RaRe et s

srogeaenal) | atfufiEW, 1935 % andd

et = agasdl & faeg fdlg

(a) ﬁ?&ﬁ_maﬁs%ﬁﬁ}mw
IS g

(o) Tt o= saf & fwe wRAE w1
9 78 g

(c) ST IR &1 gom F:m

{d) I Eifred A G & BN
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(a)

(b

(c)

(d)

53. Consi
1.

LY

(a)
(b)
(c)
(d)

N-DTQ-K-N

52. Which. one of the following
statements is correct?

An agreement is void unless it
is duly supported by adequate
consideration

In a valid contract, there can
be an oral promise to
compensate a person who has
already  voluntarily  done
something for the promisor

Under Indian Law, considera-
tion need not move at the
desire of the promisor

Indian Law does not recognize
past consideration

der the following statements :

The President of India may be
removed from his office before
expiry of his term for violation
of the Constitution.

The impeachment charge
against the President may be
preferred by either House of
the Parliament,

For the resolution of impeach-
ment, votes of two-third of the
Members of the House present
and voting are required.

Which of the _statements given
above is/are correct?

1 and 2
1 and 3
2 and 3

1 only

CY/10A
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54. Which one of the following theories
is based on the principle that
punishment should be of such a ]
nature so as to prove deterrent not -
only for the wrongdoer but also for
the society?

fa) Preventive theory
(b} Reformative theory

(¢} Retributive theory

{d) None of the above

855. Which one of the following pairs is
' correctly matched?

{a) De facto : Irrevocable
recognition

(b} De jure : Revocabte
recognition

fc) Constitutive : Recognition is a
theory formal acknowl-
edgement of an

existing fact

(d] Declaratory : A new State
theory exists indepen-
dent of .
recognition
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52. Prfafga § 8 F9- o wuw ad 27 54, fafafae & ¥ #m-w w fagma-
' | frgrt W smafE 2 i eve W@ s @
(a) H§ FW YA § 5@ a% 6 78 wiw A SRT S 7 Faw v F R s
7 wferher @ Sfrea: wafda 1 A A % ferg oft frawes fre 17
) Tt qu @i #, fedt =afe =,
s gaEE & fov e & 2= .
.. 3o frm 2, i o i T (@ 1 i
T Tl B
f¢) v fafy & sl @ v (b) T faar
T8 % wftree aoe @ =1 W
e (c) wiorames Rrgr
(@) v B o wfes w2 A
‘ TeTT 8l HEl

fd) I A AR Ad
53. frafafad sut w faan i

1. 9 & qgele # alum & Igm
% forg soh ey F g @
 3EF 92 ¥ §IET S wRAT B

2. wule ¥ fwg mefiEm @ s
- g & A 7 | TR f 3w gm

55. Prfafaa # @ =R-w & gm gt §7

T S F 8 {a) TEA: UTIAT : AAfoHEE
3. wefEn % ween & R W & - r
A-Fer, B ok wa 2} 9, P S e |
wewl T Hd SIS B
I worl # § w-w/d ad B/ (c) wuew Rrgra : wrwran e faremm
g H e=EiE
{a) 1 3R 2 - M%
(b) 133
(d) TUTHR @ Ig A UeF Wl
€ 2o ' | frgra @ A Frem
(d} ¥ 1 | © dmi
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56. Which one of the following defences
did the defendants in the case of
Donoghue vs. Stevenson not plead?

fa) The manufacturer did not owe
any duty of care towards the
consumer of the ginger beer
which was gifted to her by her
friend

{b) The plaintiff was a stranger to
the contract and therefore, her
action was not maintainable

f¢} The incident cannot be
prevented by the standard of
foresight of the reasonable
man '

(d) The ‘privity of contract policy’
be applicable and there
would be no liability of the
‘manufacturer

57. X intended to kill A but instead killed
B whom he had no intention to kill.
Under which doctrine is X liable for
the murder of B?

fa} Doctrine of transfer of malice
(b} Doctrine of extended malice
fc) Doctrine of mens rea

{d} Doctrine of diminished
responsibility

N-DTQ-K-NCY/10A

28

58. Which one of the following
statements with regard to contract
is not correct?

59!

()

(b)

(c)

(d)

Performance of the conditions
of a proposal, or the accep-
tance of any consideration
for a reciprocal promise which
may be offered with a proposal,
is an acceptance of the
proposal

An agreement made without
consideration can be enforced
by law as contract if it is in
writing between parties
standing in near relationship
and is made on account of
natural love and affection

Every agreement in restraint of
the marriage of any person,
other than a minor, is void

An acceptance may be revoked
at any time Dbefore the
communication of the
acceptance 1is complete as
against the acceptor, but not
afterwards

Which one of the following
statements is not correct?

(a)

(b)

{c)

{d)

Right to livelihood is an
integral facet of the Right to life

Natural justice is implicit in
Article 21

The Right to life includes the
Right to health

Right to go abroad is not a
Fundamental Right
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56, 8 W e 9 # ufed 3
ffofan # & fem = wiwen =0

v et Foan?

(a) Fotan R fome & 3wim % v,
W@ 3o% fim 7 IwEr § & of),
FE W@ F FA W MM A
T o :

(b) =& dim & fo weals oft i
Tl 0 A IAH A T
2

{c) v g Afr & gEFeaIEd
& HIH g AH T S QR

{d) ‘TfEeTs ey fifa T At @
iR fufar &1 =i sl & @

57. X % I A W a9 & & A1 Ty
I S I B & a9 W G md
qYu F IAH FE WA @ oanl
fogr & s x, B w0 % fore grf
27

(@) T % s %1 Rig
b) T fagw = R
{c) mquiter 57:Bfy = o

(d} e IaEie = g
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58. @R & wed § P, ¥ 3 P

TF HYT W TE 27

(a) W@ H ¥t H 9, 4@ e sw
et aed &% forg fopedt wlowe
£ =l N waa F i Aw
T T 8, WEE $ EiF ?

) wfwa F B e o wwm faty
g Gfaer % w4 # wafda fFm s
a1 & e 78 ke gy d @
T gl & = fafea § @ ek
@ 99 % FW9 T

c) Tt off =fep (oo @ fim) &
faE & w4 e T WR
A &

(@) Tt el @ ufgew ms
wiplerdt % g gl @
wg= Ol @R & g feel off W
Toren o whan 8, foprg 30k 9

59, Fmlifen & 4 $-1 & U G T

27

(@) Hfym F aftmr Sfaa & aAfimn
Ol BERGG

- (b) Aufiie = =g 21 ® ffgm &

(c) S & IR # @R H
atftrsr mive 2

(d)ﬁéﬂmﬁmmﬁmﬂmqﬁ
arfrRr 7t &

IP.T.O.
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60. Which of the following is/are the
criticism(s) of analytical view of
custom?

1. A bulk of the customs is
non-litigious, and hence it does
not come before the courts
but the society regulates its
conduct in accordance with
them,

2. In most cases, customs are
recognized not with the
assumption that this
recognition gives them the
sanctity of law but with this
assumption that they are law
and they have been treated so.

3. Though there are some rules of

' law which are, undoubtedly,
based on the common
conviction of the people, the
majority of the rules are so
complicated and technical that
the common conviction might
never have thought of them.

Select the correct answer using the
code given below :

Code :

{fa}] 1,2 and 3

() 1 and 2 only

fc} 1 and 3 only

{d) 2 only

61. In case of State succession, which of
the following treaties do not pass
on to the new State?

(a) Boundary treaties
{b} Territorially grounded treaties

{c) Multilateral human rights
: treaties

(d) Political treaties
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62. The plaintiff was traveling in a bus

belonging to the State Road
Transport Corporation resting her
elbow on the windowsill. The bus
was moving on the highway outside
the town area. A truck coming from
the opposite direction hit her elbow
as a result of which she received
severe injuries. The bus and the
truck, however, did not come in
contact with each other. The
plaintiff claimed damages against
the drivers of the bus as well as the
truck. On which one of the following
grounds were the defendants held
liable, if any?
fa] The drivers of both the bus and
the truck owed a duty of care
for the safety of the plaintiff
while driving
(b) Presumption of nepligence
can be raised by applying the
maxim res ipsa loguitur

{c) Law of negligence be equally
applicable in crowded city as
well as in the highways

(d) No liability, as she was resting
her elbow on the windowsill

63. A digs a pit and leaves four deadly

and poisonous snakes into it with

the intention of causing death to

others. B falls in the pit and is

bitten by a snake and dies. A is

guilty, if any, of

{a) culpable homicide not
amounting to murder under
Section 299

(b) voluntarily causing grievous
hurt under Section 326

{c¢j murder under Section 300

(d) mno offence as Bfell in the pit by
accident. Hence, A will get the
benefit of Section 80 of the IPC

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers




60. Frafifa # 3 F9-w/2 v N Il
g Y srrelramt/ereed 8/37

1. feriw sl ar-am o § e
gafer & wrareE | € ot g
WA 9N S N FH AFER
fafrafia s &1

2. afew wwe § wRal 38 unon &
T T A Sl 6 9w e 3
fafy <t ofemar wem = R fhg @
uron & a6 3 By # e =R
e TR =Hagd T ma R4

3. wf By % 35 W Pam g A
s w7 | AP H ww o
w it €, aftewm fom @
wiet s Tt & for e awen

. 39 o) A e 7d W wh I

ea T RUmogE W oW woER S
. g

e

.(a} 1,23ﬁf3

(b) Faa 1 v 2

fc) wa@ 13X 3

'(d)laﬁ-ﬂz

61, T4 IWads & Awe 8, Fefaige afte
7 & F-ft W TS W oga Tl
Rk

(a) T GitEt

(b) TsugEEa: snarfa il
(o) gastha T s et
(d) TsAtes aftat
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62. Tf U=y wSF uiEed Frm &t w ww #

flggdhl H e  Fgh T | aw =
W oft| 99 TR &7 | 9 TEET W T
@ off| @ i fewn @ o U & <& A
IgH Fedt woTar wrl ew 3® ik

- wh g R mm ol g W e

we ¥ gan o) A A 5w F ol |

B 3% F e & g THAH H @

forn| Fafofas # @ e @@ s w

et =, afk et +, <ft =

7

(o) T 3R TH SRl F IRt B, TEA
T w9, 9 | gen F g
2G-1@ w FAA W |

(b) Fen Y qEuren, @E 1 A ghe
T T F T, IE I dEA B

(c) I9am = Fam ofig W ot el |y
& Temrl W oA ®9 | AR

(d) F afie T8 ¥ wifE e s
Fet flaeh it o w @t o

63. A7 TET H WA F WA | T TH QR

3R @ 9N s N el g9 SIS

feu) B # R T ot |ly & el |/

W I 21 A, af ® @, feues foe adt

27

(a) uRT 299 d T A IR F T WA
i AT qa a9

(b) W 326 B wWes1 ¥ "R Il
Fiftg wE

{c/ € 300 F T

(d) Tt s o €, if% B gefe
M A i omn ar Wl A =
Wo o o =Y €W 80 =1 @y i
ST
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64. Which one of the

following
statements with regard to factors
vitiating consent is correct?

{a} A person is deemed to be in a
position to dominate the will of
another where he stands in a
fiduciary relation to the other

(b) Where a person who is in a
position to dominate the will of
another enters into a contract
with him, the burden of
proving that such consent
was not induced by undue
influence would = always be
upon the person in a position
to dominate the will of the
other

fc) Parents shall always be
deemed to be in a position to

dominate the will of their

. children

(d) Presumption of undue
influence would always arise
when parties are nearly related
to each other

65. The ambit of the expression ‘law’

as defined in Article 13(3)(a} of
the Constitution of India ensures
that the paramountcy of the
Constitution extends to the

1. temporary laws such as
" ordinances, notification as
well as permanent laws such
as Acts

2, statutory instruments in
the nature of subordinate
legislation such as bye-law,
rule, etc

3. non-legislative sources of law,
e.g., custom or usage having in
the territory of India the force
of law
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Select the correct answer using the
code given below :

Code :

{fa} 1,2 and 3
(b) 1 and 2 only
fc} 2 and 3 only
{d) 1 and 3 only

66. Which one of the following pairs is

correctly matched in order to form
a jural opposite in the analysis of
‘Right’ given by W. N. Hohfeld?

{a) Claim ¢ Duty

(b) Power Disability
{c; Immunity Disability
{d) Privilege No right

67. Which of the following are correct

according to Constitutive Theory of

Recognition?

1. Recognition is a key to member-
ship of the international
community.

2. It is constitutive of a new
international legal personality.

3. States are wunder a legal
obligation to grant recognition
to a newly emerging State.

4. Recognition clothes the
government of the recognized
State with authority and
opportunity to conduct
international relations.

Select the correct answer using the
code given below :

Code :

faj 1, 2 and 4

(b} 1 and 2 only

(¢} 2 and 4 only

fd} 1, 3 and 4
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64. Ty B A X I FWON % gl F

frefifaa § & FH-w T F T@ 87

) =R @ A T R
0 & fRf § 3 s € 6 98
R & durfe T § f &

@) @ #E =RE W A R
st w0 A R 3 AR
% Ty ufye e 8, A 38 whka
FA w1 ur fr ol sy o
¥ 3aifta =t g8, s 39 oI W

(c) B R L
F sfemfa w0 i &l § R
vt &

. .{d)-r'GFq' YFR  TH-GW F AR

gy g, d g AR W
IqyRe g 41 B

65. W@ ¥ WleUF % TLH3 13(3)(a) # T0-

wforfa ARy & sfeafe f didw
gﬁfﬁmﬂfﬁ%%éﬁﬂﬁ@iaﬁqﬁﬁm
e _

1. o Bt & & stamy,
s, e Ty &, st &R
<3 Fr ifufam 7% ¢

2. wih Rred, St sy Bewa &
ey & §, 99 & sufefy, fam
qfe 9 B

3. ofrh fafa 3 <, S v %
Tuga ¥ AR %1 9w @ ol v
T W A 8
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f= Re g & ® WM R OEH - IN

C T

w (@) 1,233

(b) FaAA 1 32

fc) FE@ 2 3N 3

(d) ¥aw 133

66. o THo gibes g f& My “wfen &

Rt # e Bl s & w
# fraffign § @ FR-0 @ W gAed
27 :
() T : FAA

(b) T - foatera

(c) I . Frama

(d) Twfeer 3 st TR

67. WRRT % €ueh fUE % FER

Prfofiaa # 4 FR-8 v &7

1. T AU §UEE Y weel &
e

"‘2. 7z Tu audE fafes sftva w0

FHEH B
3. U sninfg oo B AR FEE w9
¥ fe wa fafter snvgenedia 21
4, WA AR T O OWER =l
"y gl @ e S
" i afv arEE ¥ R
3 Ry T FE W W W T IW
g

fa) 1,234
() Faw 12
c) ¥ 2 WM 4
(d 1,334
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68. Which one of the following
statements illustrates the principle
of Contributory Negligence?

(a) The plaintiff by his own want of
care contributes to the damage
caused by the negligence or
wrongfu! conduct of the
defendant

. (b} To be guilty of contributory
negligence, the plaintiff should
have acted like a prudent man

(c) A person who comes to court
must come with clean hands

{d) The plaintiff’s negligence
means breach of duty towards
defendant

69. Which one of the following is not an
element of thefi?

fa) Dishonest intention to take
movable property

(b} Moving of movable property
with dishonest intention to
take it out of the possession of
another person

{c) Dishonest inducement to
deliver movable property

fd) Moving of movable property in
order to accomplish the taking
of it without the consent of the
POSSESsor
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70. Which one of the following

agreements is induced by undue
influence?

fa) A applies to a banker for loan
at a time when there is
stringency in the money
market. The banker declines to
make the loan except at an
unusually high rate of interest.
A accepts the loan on these
terms

(b} A, enfeebled by disease or age,
is induced by B's influence over
him as his medical attendant,
to agree to pay B an
unreasonable sum for his
professional services

fc) A, at the age of sixty-five years,
executes a deed of gift in
favour of his only grandson
gifting him all his properties to
the exclusion of his wife, sons
and daughters

{d} B, a rich man, donates all his
properties to a charitable trust
leaving nothing for himself and
his family members

71. In which one of the following cascs

was it observed that the objectives
specified in the Preamble contain
the basic structure of our
Constitution, which cannot be
amended in exercise of the
power under Article 368 of the
Constitution?

{a) Kesavananda Bharati vs. State
of Kerala

fb) Lingappa vs. State of
Maharashtra

(¢/ D.S. Nakara vs. Union of India

{d}] Amar Singh vs. State of
Rajasthan
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S & T Bt <l @7

Sg) Tt SR wEwE ¥ oowE A
yhad H A W wWy wH A
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(c) e # o TR SR o
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.69.ﬁﬂﬁlﬁ§3ﬁﬁaﬂ?-m@ﬁﬁ$¥ﬁﬁ
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(@) T weARr A A A A W w
A
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© o @ IRfE R
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@it &1 Y, SR 9 8 IA
-2 % fEM, IUR A § 7T
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(d) 3R e W qeRdE T

[P.T.O.

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers




72. Ifthe sum fixed represents a genuine
pre-estimate " of the probable
damages that are likely to result
from a breach of contract, it is
considered as

(a) liquidated damages
(b} penal damages

(c) special damages
(d) gencral damages

73. The Charter of the United Nations
(aj enumerates human rights

(b} imposes obligation on States to
promote human rights

(c/ contains mechanisms to
implement human rights

(d) imposes obligation on States
to protect human rights
enumerated therein

74. Identify the situations where slander
is actionable per se under the
English law of tort :

1. Imputation of criminal offence
to the plaintiff

2. Imputation of belonging to the
lower caste

3. Imputation of a contagious or
infectious disease

4. Imputation of unchastity or
adultery to any woman

Select the correct answer using the
code given below :

Code :

fa) 2, 3 and 4
(b} 1, 3 and 4
fc} 1 and 4 only
(d} 1 and 3 only
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75. W, who had her small baby tied on

her back, was proceeding towards
her parental place who lived
nearby. Since her husband H, did
not like her visits to her parental
place prevented her from
proceeding further and directed her
to return her home and threatened
her with dire consequences if she
ventured to do so again. She felt
very depressed and decided to jump
into a well nearby. Unmindful of the
presence of her child on her back,
she jumped into the well. She
survived but the child died. W is
guilty of

fa) murder

(b) culpable homicide not
amounting to murder as she
cannot be attributed with
intention to cause death or
intention to cause bodily injury

¢} causing death by rash or
negligent act

(d} no offence as it is a case of
accident or misfortune

76. A's wallet falls out of his pocket

unknown to him. B, who sees this,

picks up the same. On finding that

the wallet contained Rs 2,000, B

uses the money for his own

purposes. After twelve hours, B

puts Rs 2,000 back in the wallet

and returns the same to A. B is

fa) not guilty of any offence

(b) guilty of criminal misappro-
priations of property

¢/ not guilty of criminal mis-
appropriation as B returns the
money and the wallet to A after
twelve hours

(d) guilty of theft as B has caused
wrongful loss to A for twelve
hours
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77. Which one - of the

following

agreements is not void?

(a)

(b)

() .

(d)

78. Which one of the

A agrees with B to discover
treasure by magic

A agrees to sell B ‘hundred
tons of oil’ without specifying
in any manner what kind of oil
was intended

The plaintiff and the defendant
were tival shopkeepers in
a locality in Kolkata. The
defendant agrees to pay a sum
of money to the plaintiff if he
would close his business in
that locality. The plaintiff
accordingly did so, but
defendant. refused to pay

A at his own volition agrees to
sell his horse worth Rs 10,000
to B for Rs 10 only

following

statements regarding secularism is
not correct?

(a)

(b}

(¢}

(d)

‘SBecular republic’ implies a
republic in which there is
equal respect for all religions

It was decided in the
S. R. Bommai vs. Union of
India case that secularism is
a basic feature of the
Constitution of India

In the case of Bal Patil vs.
Union of India, it was held that
the concept of secularism is
that the ‘State’ will have no
religion -

The word ‘secular’ was
introduced under the
Constitution 44th Amendment

N-DTQ-K-NCY/10A

79. Consider the following statements
with regard to the UN Committee on
the Rights of the Child : :

1.

The Committee is a body of
independent  experts  that
monitors implementation of
the Convention on the Rights
of the Child by its State
parties.

All State parties are obliged to
submit regular reports to the
Committee on how the Rights
are being implemented.

The Committee considers
individual complaints of
violation of Child Rights.

Which of the statements given
above is/are correct?

fa)

1, 2 and 3

(6) 1 and 3 only

{c) 2 only

(d} 1 and 2 only

80. What is the exception to ubi jus, ibi
remedium?

{a} Imperfect right

(b} Equitable right

(c) Proprietary right

{d) Corporeal right
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(b)

{c)
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fraTn @+ &, a9 ¥ Rg
HEAA BT §

Tt R wieadt wiewmm &
wwdt 3 wfogRd gwmen 4 gfdEm,
e P g Wi gEH W
Heqa A & fr 98 o8 = #§ a1
MR &< 2| AE A FEgEn e
o, frg o= widart 4 e &=A
¥ 7R X fe

A, TR W B/, N
10,000 ¥ TeI H =gl B @

A 10 T A 99 & g we

e &

78. wifiQma ¥ ar 4 Bt # @
" -9 & FUA 6 T 27

(@)

(b

fc)

(d)

‘wify e w1 o @
R @ 8, ed oft uEt F g
i ok S
Qﬂomowmm@%
as # 3z fffm g &
ity aa & "R R ogd
fafirea &

A qifed S 9RA @9 & 918 A/
75 afifiuiia gon 5 adfrda
$ dweqar 78 & R Usa W w8
LEE Ul
‘e’ w=e dlaum & Haeiad
Hoga ® qrrenfya foran
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79, firg ¥ st W e Ty wR % o
farfafes wuat o faar $if .

1.

wftrfe e faonst =1 & Pl g,
st g ¥ oftet w i &,
TF THUEH g0 HEl=g
Liicituicocisd

off teaueer W fawm w &
sttt &1 e &8 TR S
w1 2, wibfy = fafi fold s %
Torw amex €|

aifn fog ot & g A
JafrE Remd w fRar s )

Iy wet § R} wA-w/R ' /g

{fa) 1,233

(b) wad 1 AN 3

c) FTA 2

(d) Faa 1 AR 2

80. & @R 2, g syan W &, T AEE
1 37
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81. Consider the following statements :

1. The Judges of the International
Court of Justice are elected by
the General Assembly and
Security Council for a period of
nine years.

2. India is not a party to
the Optional Protocol I of
International Covenant on Civil
and Political Rights, 1966.

Which of the statements given
above is/are correct?

(a} 1 only

(b} 2 only

{c¢ Both 1 and 2
(d) Neither 1 nor 2

82. Which one of the following has ne
locus standi to seek advisory
opinion of the International Court
of Justice on the issue of use of
nuclear weapons by a State?

‘ (a) The General Assembly of the
United Nations

(b} The United Nations Security
Council

fc) State which is a member of the
United Nations

(d} The Human Rights Council
‘ after obtaining authorization of
the General Assembly

83. Which of the following are essential
elements of the defence of fair
comment in the tort of defamation?

The matter commented on must be
1. of public interest

2. an assertion of fact

3. an expression of opinion

4, fair

N-DTQ-K-NCY/10A
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Select the correct answer using the
code given below :

Code :

{a} 1 and 2
(B} 1, 3 and 4
fc) -3 and 4 only

({d 2,3 and 4

84. Five named accused persons A, B,

C, D and E are prosecuted for
committing dacoity. The prosecution
proves beyond reasonable doubt
the participation of A, B and C in
the crime but fails to do the same
about D and E. A, B and C are
convicted while D and E are
acquitted. Which one of the
following is correct?

fa} Conviction of A, B and C is
good in law as there were five
participants in all in the crime

(b) Conviction of A, Band Cis bad
in law as for dacoity a
minimum of five persons are
required

fc) Conviction of A, B and C is

good in law, because conviction

. of at least five persons for

dacoity is not the legal
requirement

{d} Conviction of A, Band Cis bad
in law as in case of named
accused less than five persons
cannot be convicted for dacoity
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81. FmafuRan wudt w famm Hifs

1. S=RIEE =ETeE % A &
- faten ggmw w g gieg s
36t € srafy & e g

0. wwa, fafve ik o SRt
Wy wElE, 1966 &
Apfeaes A= 1 1 TH GEHT T
#1

I ol A wH-E/F w3/

(@) ¥4 1

(b) Haw 2

(@ 1sm2dd

(d) adm1siad2

82. fmfafaa & ¥ fre = & T, 79
W AR sl F WM kR W,
SFRIE AT H AeEwl 1@ A
w1 g At I 87
(a) W T WER
(b) WY T, G W
() TIH T H F§ 9 T

(d) WA dfwg, WEEW @
 STTRIERT TR T % 9Ey

83. WA & smgw # 3@ den-RRowft B
wieren ¥, Frafefem § € $9-8 afad
ae &7
Frep-feaoft forn mn fawm

erfed 1 g @ ey

T STEA A1 A e

m i sifrerts 3 @ wfae

3t g & =fe

LS S
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—1ﬂ

4= Ry M g w1 WL @ W
gfe

¥R

(@) 132

M) 1,334

(c) 3 3 3 4

(@ 2,334

84, uia T Afiges =% A, B, ¢, D 3R

E = F0 ¥ forg s feg e 1
AfReH vy SRA @ A W A, B3 C
$ arqry W wrfied g = 3w ? ey
D3R ES I # ¥ w0 & fawe dn
21 A, B 3t C fugdw B £, s@fs
D o E Qwge g &) Frafefea d @
HI-H1 W g7

@) A, B3R c® frgdm sgw fafu
FgER WE ¥ i w4 g
ufsr vrfier &

(b) A, B3t c# fagdw sson fafa
JER T @ wEE shal
FH-Q-%9 o9 =Real H FA
. SITAEF 8

) A, B3R CH g sewn fafy
FgER w2 wifs e % fore
Fu-B-59 uia =t @ fagdw
e faftres sTravEeRar AW

d) A, B3 c= fag@n sgn [l

AR TTEd ¥ iR ARa Y
" % umer § e % fow wiE @ wR
- wfat o Taedm FE eEwT W0
i _

[P.T.O.
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85. Which one of the following Code :
statements is not correct?

{a) All illegal agreements are void @ A~ B C D
but all void agreements are not 2 4 1 3
necessax:ily illegai _ ) A B c D
(b) A wagering agreément is void 3 4 1 2
but not illegal
(¢} An agreement with a minor is ¢/ A~ B C D
void but not illegal 2 1 4 3
({d) A void agreement affgcts the @ A B o D
performance of  collateral
. 3 1 4 2
transactions
86. In which one of the following cases 88. In which of the following situations :
was it held that a law made under Is communication treated as
Article 368 would be subject to published and defamatory?
Article 13{2) like any other law? 1. Dictating a letter to one's
fa) Shankari Prasad vs. Union of typist containing defamatory
India statement about another
{b) Sajjan Singh vs. State of 2. Sending a defamatory letter to
Rajasthan the plaintif in a language
(c) Golak Nath vs. State of Punjab supposed to be known to the
(d) Minerva Mills Ltd. vs. Union of plaintiff
India 3. The husband writing a letter
to his wife containing
87. Match List-1 with List-1I and select some defamatory aspersions
the correct answer using the code concerning her father
given below the Lists : 4, When a libelous letter
addressed to the plaintiff is,
List-T List-II in the ordinary course of
{Type of right) (Mustration) business, opened by his clerk
A, Right in re 1. Right to Select the correct answer using the
aliena reputation code given below :
B. Right in rem 2. Right to alimony Code :

{fa) 1, 2 and 4
() 1, 3 and 4
(¢t 3 and 4 only

C. Imperfect right 3. Encumbrance

D. Personal right 4. Debt claim
beyond the
limitation period fdj 1 and 3 only -
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=

8s5. fraffaa § @ =F-w @& F99 wdl T F
# @ A B C D
(@) Wi 34w I § g wht 13 2 4 1 3
manmq_'eﬁ%eﬁqﬁ W A B C D
b) T FW YA & Ty 3 4 1 2
g aray = 2 1 4 3
(d) Y@ T EUHE doraEt F ) A B C D
HEqTEH ol waIfaa & ? 3 1 4 2

g6, frafirfs § A B @ am & W@

. e & @ f R # v @
it fom T fr ogede 368 X o 8

s Bt 8 B et 4 = Bl TR AR AR S 87

h TR AT 13(2) F e Flt? 1. o TR W o= % SR A
(@) T SEE I R 69 AR wY= aen o3 foear
(b) w TR ST TeRAH T 0. o I U v nEERERE o
(¢) T A T G T C e Rwd o # 9w o m @
(@) Bt freg R am sea € TR B q§ T AT @

3. i @1 7ot gl @ Y ux fe
st s e ¥ wew #

1 % i @ g e
87. g1 1 o
S 9T : AEHEE 97, FER & HHE
' a8, Su%_fafe gu @
qeft-1 -1 ST 2
: ) e 2 feu MU FE W WM WG IW
A. in re aliena 1. wfest = Iftew g
®e: ,
B. wdeft st 2. fafe =
T @ 1,234
C. sl sfmw 3. fgm () 1,334
D. wifma wfuer 4. SRe s (@ ¥ 33
r IR T H TG (d) et 13
N-DTQ-K-NCY/10A | 43 [P.T.O.
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89. Decision

in which one of the
following case§ has been described
by the Supreme Court to have
attained the status of a landmark
for bringing out correct tests
for application of Section 300(3) of
the IPC?

fa) Kapur Singh vs. State of Pepsu
(b) Virsa Singh vs. State of Punjab

fc; K. M. Nanavati vs. State of
) Maharashtra

(d) Rawal Penta Venkalu vs. State
of Hyderabad

90. Which one of the following facts

constitutes a Contingent Contract?

. {a} A contracts to pay BRs 10,000
if B's house is burnt

(b} Where a salt lake was offered
by way of lease on deposit of
a sum of money within a
specified period

{c) Acceptance of a tender for
up to 1000 tons of coal to be
supplied as and when any
order is placed during the
financial year

{d) When a bank offers a locker to
its customer subject to the
condition that the customer
makes a fixed deposit of rupees
one lac with the bank before
the end of the month

N-DTQ-K-NCY/10A
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91. In which one of the following cascs

was it laid down that presidential
proclamation dissolving a State
Legislative Assembly is subject to
judicial review?

{a) Arun vs. Union of India

{b} S.R. Bommai vs. Union of India
{c) A. K. Roy vs. Union of India

(d} State of Rajasthan vs. Union of
India

92. Universal Declaration of Human

Rights, 1948 contains provisions
relating to

{a) conceptualization of Human

‘Rights

(b} operationalization of Human
Rights

fc}) establishment of Human
Rights Institutions

(d) establishment of Human

Rights Committee

93. Which of the following statements

relating to the tort of conspiracy
isfare correct? :

1. It consists of an agreement.

2, Tt consists of forming a
combination with the purpose
of causing damage.

3. Damage suffered by ~ the
plaintiff must be proved.

4. The gist of conspiracy in tort is
an agreement alone,

Select the correct answer using the

code given below :

Code :

fa) 1 and 2

(b) 2 and 3

fe) 3 only ¢

d) 2 and 4
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89, fimfutaa & 8 vl s 9= & fafiem =

FAqH e I afta e man g
5 Y 1PC Y U 300(3) F IFITEM
% for @@ wdgwl W @R F R
R Rl ww o 87

{a) g TR W g Uy
(b) Tamar T s oo T
f¢) o o THTEH! S HERTE T

(d) Tee AT F=he] T gRUER T

90.ﬁn%rf@aﬁﬁﬁq-mqmawwﬁa

gfeer fififa v &7

(@) A, B®), B® W el 51 $ fEufa
# 10,000 ¥ 1€ w=R i Gl
AT &

() “E e uw B AR sy %
AT HE AU FHIER I8 W 21 &
weama e Bt

) Tofta af & <nm w@ off wft
aew WEgA R S 1000 T O

wren off 0 6 Bf el

(d) & SF I TEH F TH AR W
wd & et 2 1 yEdar Har g R
g WE h qufl & 9@ 9% & T
T g T92 %1 grafy 5o R
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aaaaaSS—S—S——

91, fraftflga # @ e @ 9= T =
wﬁ%mw%mﬁﬁmaﬁ
w71 F 1 F@ A IgEon A

et & s 27

(a) 3T TR WA TH

(b)) TWo 3o HWIE TAW M
(c) To o g TN WA G4

(d) TSI ST T WA dY

92. WHd eafixaarﬁléﬁt e giwon, 1948 #
Frad wrafa 3uamy 27

(a) e At = gerea-faut
(b) WP Aftrer F wiwa-fafo
{c) TR ftrEw weensd T
(d) Ta sAfter it 6 s

03. wEii ¥ v @ WAt fefe § 2

1. 98 WA =141 2

2. 9% THAH HG FA & WA o
= A | T B

3. A& T B T THAA g g
# =nfeq

4, W F TN @ FA § §gYT H
R 1~

™ fw g = o W Oad W
T

e

(@) 13K2

) 233

) F@3

(d) 23R4
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94. Xinflicted as many as 19 injuries on
the arms and legs of Y with a
gandasa, resulting in multiple
fractures on arms and legs and also
profuse bleedings. The injuries
cumulatively caused the death of Y.
X is tried for the offence of murder
u/s 302 of the IPC. Determine the
criminal liability of X from the
alternatives given below

fa) Since X inflicted injuries only
on non-vital parts of the body,
hence he could not be
attributed with intention to kill
and therefore, cannot be held
guilty of the offence of murder
but only of culpable homicide
not amounting to murder

(b} Even though the accused did
not have the intention to cause
death but, nonetheless, he had
intention to cause the injuries
on the body of ¥ and the
injuries so caused were
thereby cumulatively sufficient
to cause death in the ordinary
course of nature and so his
case falls under Section 300

{c) Since injuries were only on
non-vital parts of the body, and
there was no intention to cause
death, the accused is liable
only to be punished for the
offence of voluntarily causing
grievous hurt by dangerous
weapon

(d) The liability of X.can at best be
causing death by rash act
not amounting to culpable
homicide

N-DTQ-K-NCY/10A
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95. In which one of the following cases,

a confract becomes void on
the ground of  subsequent
impossibility?

(a) A agreed to supply certain
quantity of Basmati rice to Bin
the month of December, 2009.
However, due to deficient
monsoon rains in 2009, the
prices of Basmati rice
skyrocketed making it difficult
for A to supply rice at the
agreed price except at heavy
losses

{b) A agreed to supply B certain
quantity of fabric at specified
rate manufactured by ABMiils.
However, due to indefinite
workers’ strike in the mill, A
failed to supply the fabric to B

¢/ A contracts to act at a theatre
for six months in consideration
of a sum paid in advance by B,
On several occasions A is too
ill to act

(d} A agreed to supply ten tons
of sugar to B at a rate of
Rs 20 per kg. However, due to
non-availability of adequate
stock of sugar in the local
market, A failed to supply
sugar
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94. X X Y i gensit i it w e @
wWeq IgeRl gl 3fR 2w gl
3 srafeer e gon| &fadt & =t
e ¥ YR Iy @ I X HIPC #
gm0 302 % 3efi w & Ay & g
Rrarw fn ) Poafafge fawed o @
X ¥ s TR # faiia Hife

(@) T XA 7R F i on } fm
a3t @ & sifeat i o1 @ TEN
% e T AI Sh ogEa MR
zafie 38 g ¥ SraUY 1 et
FET I Ghal e Faa gl Y
FR ¥ 3 I T Iuids g
qY i A} IFAT S TRAT &

(b) o € g w1 gy Fi@ = A
g 8 o Af e off sEe v
F TR W afy wfE 3 = 3mm
a1 3 3@ yhR Ffa &fEi
R WEfd F WURW A H T
Filid F0 & o gl w1 @ @i
off 3 @A AW U 300 F
arfia ofran &

fc) % ufval ¥=e vl & = o @
i offt m off it gy Fifq &
w1 B A TE u @ ANYE
Fa W 4 TAATE IR F AT
I9efa wifE 0 F Ty & farg
3foga for SR & forg grft @

(d) X & A s | s

FUYY FE EN TG FRA FA
F, S AUETF e 9g f @ 7
¢ &, © wewal © '

N-DTQ-K-NCY/10A a7

o5, frafefan & & fou v @@ 4, vargadl
FEEAT F I WG I A {7

(a)

(b)

(c)

(d)

A, fmmar, 2009 9® & B ®
Tt =rEe H s ffim wen Hi
ofd w0 ¥ fow wgwa g 7)1 auifg,
2009 # = WG qul F HA,
FEAA FET h BHd A 98 R
frad A ¥ R 38 wiad &Y, el
& Fa ®, o will A 338,
gfd F Fea & ™

A, AB firew gro Pfifa w0 A o
fifta oo fafifde ww = B = ofd
3 ¥ fou ggma @1 @y,
frm & s R affieeeE
AT F HWO A, B H U
ofd et o fawe o &

A, BT #fm e A w8 ufi &
ea 1 ©: U % foq = R d
sy w0 % fae dfder =@ R)
3 ITHU W A AT STEE TEel
2 o wrfig =t <= amn

A, B® 20 %o Ufd o me A N
¥ 7@ @ 4 A Ol R F fag
wEWA [l &1 auify, = e A
4t =1 g5t wis 7 i & @,
A S i ofd 3 & g
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96. Consider the following statements

about the residuary powers of the
legislations : '

1. The Parliament has exclusive
power to make any law with
respect to any matter not
enumerated in List IT or List III.

2. State Legislatures have
exclusive power to make any
law with respect to any matter
enumerated in List II.

3. The Parliament as well as State
Legislatures have exclusive
poweir to make any law with
respect to any matter not
enumerated in List II or List III.

Which of the statements given"

above isfare correct?

(@ 1and 2
(b) 1 only
fc) 2 only
(d) 1and3

97. The statement “King is deéd, long

live the king” denotes that the
king is :

{a) a natural person
(b} a corporation sole
fc) a coi‘poration aggregate

{d) not a legal person, but a
position only

N-DTQ-K-NCY/10A

98. What is the effect of a State Party

making a declaration under the
Optional Clause of the Statute of
the International Court of Justice
(ICJ) |Article 36(2))?

() Individuals can file cases in
the ICJ against that State

(b) States which have accepted the
jurisdiction of the ICJ can file
cases against that State on the
basis of reciprocity

.{¢) The State would have an option

to continue as a party to the
Statute of the ICJ

{d) The State allows all the other
States to file any case in the
ICJ against itself

99, Which of the following defences in

an action for tort of nuisance are
ineffectual defences?

1. Public good

2, Statutory authority

3. Nuisance due to acts of others
4 .

Reasonable care

Select the correct answer using the

* code given below :

Code :

fa) 2 and 3
(b} 1,2 and 4
fc; 1, 3 and 4

{dj 2 and 4 only
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96. fqurt & waRmw wikeat F am #
frafafiag w9t o = $ifsw . :

g witm 7 fry o Rt Rom ¥
Wy 3§ wis Gy s ) em=
wifeR 81

2. T fummvest & o, -1 H
Tiim feefl g & ey § FE
fafts @ i s wfe R4

3, Tug, W9 @ T fare
wr, FEi-11 a1 G-I § Wi A
foru T Rl faww & werw § A%
Ty s A 3w ofes B

9 wuAl # A -/ T B/

{a) 132

() ¥FEE 1

(o) HEA 2

(d) 133

97. W%mﬁ:“wmﬁm%,wﬁﬁsﬁdﬁ
B ug aifde = & T oS

(a) TF Wipias =t 2
(b) Y frmg o 2
(c) T wmt® Fom g

(d) = fafts =fe 7, g e @&
g ¥
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1. ®&g & ww, g1 W g~

08. US4 TUHHR T, FEE  AERHE
c)) & uiifmm & =wfcs @
[ =85 36(2)] % 3T=rid S9N FA HI
41 qftorm 87

(o) =ARE 38 Tsw & foawg 1cU # 9.
HTEH F qHT B

m) A w3 1 H R
dFR wm oft 2 3 39 09 & fwg
YREIRERA] & U 9T T8 BT

T §

© TF & ym IcJ & wfifmm =
et 89 84 F faeed g

(d) T, @it 3 ol W ICT § AW

fomg ae e FW % T g
T ]

99, Hy ¥ WP * fuau wilEE A
freafafiae § @ Sw-d sfmamnd sonmeh
wicran 27

1. i %eam

2. wifafs wiiteR

3. . qE ¥ FA F HO LA
4. ghegm @

:ﬁ%ﬁqmi‘ammﬁnfﬁa‘é’tm
g

R

(a) 2 33

") 1, 23R4

c) 1,334

(d) aa 2 3R 4
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100, Match List-I with List-II and select 101,
the correct answer using the code
given below the Lists :

List-T List-II

A, A and B go to murder 1. Mistake of
X under a common fact in
understanding. A stood good faith
as a guard near the
gate and B stabs X

B. A Police Officer 2. Criminal
received a warrant to misappro-
arrest X believing Y © priation

to be X, he arrests Y

C. X, a Hindu, divorced 3. Joint
his wife and refused liability
to return her money,
clothes and ornaments
despite her repeated

Hazardous activities that attract
absolute  liability are those
activities, which are

{a)

{b)

(c)

(d)

prohibited by law being
dangerous to the society

permitted by law for the sake of
social utility

tolerated on condition that
they pay regardless of any fault

permitted with statutory safety
measures

demands 102. When any provision of a law made
by the Legislature of a State is
repugnant to any provision of a law
made by the Parliament, which the
Parliament is competent to enact,
the law made by the

D. A finds a gold ring on 4. Criminal
. a railway platform. He breach of
picked it. Instead of trust
returning to the
Railway Authorities,
he sold it immediately

Code ;

{aj A B C D
4 2

3 1
) A B C D
3 1 4 2
) A B C D
2 1 4 3

(di A B C D
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(@

(b)

c)

(@)

State Legislature shall prevail

Parliament shall prevail if it is
made after the law made by the
State Legislature

Parliament shall prevail
whether passed before or after
the law made by the State
Legislature

Parliament shall prevail if it is
made prior to the law made by
the State Legislature
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.100. G-I # g ¥ gk Hibg qer 101. vieirera framreny St snedfad oifiet 9
giet % AR g T g & W W ad sreffa w8, 9% feawe B, A
mqﬁq
(@) W= % fog wae B} fafy
-1 -1 T wiRg B
A. AR BEM= A % 1.'1@1131'1
s XN EMFASTR @ A (v) Wﬁ*;ﬁﬁf%mﬁﬁm
¥ A TR E 9 g % - ST
&9 1 wel @ 3t B3
X &1 Aue fm ) 3@ T4 @ wg e v § 6w,
- o
B. e gfte sRER Y X 2. TR ;ﬁ;ﬁ“mm g
F PRTEr F3 & aw=e FEIER : |
T &l '
;ﬁmméga;;(y; (d) ST GE IR & WY AW &
R v A 21
C. X, sifsfRg? st 3. uge afm ro
veft ¥ Rrae-frede | 102, 32 frdft v=w & fyrmres @w w9 E T
I, IF TR-AR {A W faftr & 9 Iweru wog g w9 1 fafy
ft 30 U, T9 3T ¥, R vog siPafa =0 & forg vam
I T #en) %, fedll sy & fmg @, @
D. AR WA WM W UF 4. ANTEH
a1 & S firelt) 3 ST (@) T & furmvea g a8 1 fafy
R R_ETE e gef
aftrmiitat it Fom F@ _
% 99 36 T g A= ) Fug 5 R T faftr sfinh et
) : 7R 58 U9 & fravmvse 3R 8
' T fafy % ae & o v R
@ A B C D (c) uag g1 & e Y st St
3 4 1 2 IR 98 T & Ruransd g a1 )%
m A B C D T fafy @ v T 3o 9r # wiiE
3 1 4 2 kiR
(c) A B C D
2 1 4 3 (@) g 7w g fafn iR
d A B C D If 78 =T & faurmves g 9
2 4 1 3 s ol & wadt = 0 @
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103. Which one of the following Statutes

has

(a)

(b)

(c)
(@)

no Preamble?

The Government of India
Act, 1919

The Government of India
Act, 1935

The Constitution of Pakistan

The Constitution of Switzerland

104, Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-1II
(Theory} (Key to the theory)
A. Theory of 1. Some groups are
Enterprise treated as if they
Entity are persons
B. Fiction Theory 2., Utilitarian
C. Concession 3. Juristic persons
Theory are creation of
arbitrary rules of
procedure
D. Hohfeld’s 4. Identification of
Theory law with State
Code -
fa) A B C D
3 4 1 2
) A B C D
2 4 1 3
fc) A B C D
-2 1 4 3
dl A B C D
3 1 4 2

 N-DTQ-K-NCY/10A
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105. Which one of the foliowing human
rights instruments does not contain
mechanisms to implement human
rights enumerated therein?

(e}

(b)

{c)

{d}

106. The

International Covenant on Civil
and Political Rights, 1966

™

International Covenant on
Economic, Social and Cultural
Rights, 1966

Universal Declaration of

Human Rights, 1948

UN Convention on the Rights of
the Child, 1989

pardofling power of the

President under Article 72 of the

Constitution of India can be
exercised -
fa} only after the trial and on

{b)

{c)

{d)

conviction

either before or after the trial
but never during the trial of the
case :

during or after the trial but

never before the trial
< .

at any time before, during or
after the trial |
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103. frefofaa & @ fow w /@ ft 3% 105, Fefifee # ¥ B @ Tmm sfEw

Ie e At 37 I H, I8 e mAa st i
wEtta w H rafaftat srafde Tt
(@) @ WEHR afufvm, 1919 . %7

(b) STE THR AUFRM, 1935
‘ . | (a) Tefim oft oorifes st w
fc) wiebe 1 wldum e TEiE, 1966

d) FReEve % faus
“ B i, wfe ok et

iRl W SFadE WHiNE, 1966
104. g1 = -1 & g AR a

W%ﬁﬁqm@mmmaﬁ (c) wrE SR A wreshfe weon,
I AT 1948
-1 w11 @ fg ¥ et w dgw Uy
(Rrgra) (Rrgr= w1 wervmma) wfam, 1989
A TREFEH 1. T EE W@
g | ST R A S =5 8
B. Tv W g 2. swifiemard 106. YRG % WHWA ¥ g7 72 F anfw
C. famma# 3. faftw = fs wfiem % s i o w3 A wfe
e T et Y = '
D. e & 4. R v Ty (o) FHad, fasmw & ar it Sl w
firg W s 1w 2

(b} ﬁam%:ma’lys@tmmﬁ,ﬁa
we : fFft ar & famm & R Wl

fad A B C D 7S, wgwh it = vl &
3 4 1 2
' ¢ B=mr & dum @ W= #, frg
) A B C D
s 4 1 3 fommm &% wew w78, vy f @
oFdt ®
€ A B C D
2 1 4 3
(d} feamw & vget, Sus e oK IuF
() A B C D TR 7 f&h f wwE, wge f W
3 1 4 2 . Wehdt &
N-DTQ-K-NCY/10A 53 ' . [P.T.O.
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107. Consider the following statements :

1. To bring an action for damages
in respect of a public nuisance
by a private individual, the
injury must be direct and not
merely consequential.

2. Private nuisance may be with
respect to property or personal
physical discomfort.

Which of the statements given
above is/are correct?

{a) 1 only

(b) 2 only

{7 Both 1 and 2
(d} Neither 1 nor 2

108. A, a resident of Chennai, is an agent

for B, a resident of Delhi. There is
an express contract between them
that all sums remitted by Bto A will
be invested by A in accordance with
B’s direction. B remits Rs 5 lacs to
A with the direction that it be
invested in buying shares of X
company. A instead invests the
same in buying shares of Y
company believing in good faith
that this will fetch more profit to B
than investing the money in X
company as directed by B. B suffers
loss, because the value of shares of
Y company declines. A is liable

fa) for criminal misappropriation
of property as B suffers loss,
because A has disobeyed B’s
directions

(b} for criminal breach of trust as
B had entrusted the money to
A and A had invested it in
violation of B’s directions

N-DTQ-K-NCY/10A

(c) for theft as wrongful loss has
been caused by A to B

(d} to face a civil action by B
on account of the loss suffered
by B

109. A, a trader, leaves goods at B's house

by mistake, B treats the goods as
his own and consumes them.
Which one of the following
propositions would govern their
relatiql:xship?

{a} Bis not liable to pay as he had
not placed any order for
the goods. There was thus
no contractual relationship
between A and B

(b} Bis liable to pay for the goods,
as there was an implied
contract between A and B

{c} A cannot take advantage of his
own wrong and therefore,
cannot recover the price of the
goods

{dd B would be liable to
compensate A as A had not
delivered the goods intending
to do so gratuitously and Bhad
enjoyed the benefit thereof
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107. FrafaRaa Fi w famm FRw

1. Wiga =i % gR1 o =Ea & an
7 geurl & fI e @ #g
wfa wewe, o W= giftonfies w4,
A f =i

2. WigaR gEd vy @ wafes e
F¥ ¥ graey o § w2

I el F @ -w/d ud 287
fa) ¥ 1

(b) ¥ 2

¢ 1323

(d} adrismad2

108. == &1 Fawh A, g & fawfh B % fom
aTfrral 31 3 otw I8 i dfe 3
6 Bgw A+ 9t 7 ¥ @ B %
Poger A g fifes f st B ofw
G ¥ A B gW TN F wry e
& = X =t & 9 B whe |
o fen <) A 3o e Y el 3
I Ele? # | @H A PR agaE
# 75 fage =A@ WA W R B BEw
Qe X s g7 1 faw w=¢
£ e TEA B i 31 W @ B
® R | I & ®Wife Y
T I 0 B T 81 A e fig
Tt 27

% A & 3R B =1 fdw 7 a7
F FWT B H JHAHE IIFT 4l

(b) IJTHREE AR ¥F fou, wifs B3
@ A H il off it A % 3 B
& et = g w@ g faw
e

N-DTQ-K-NCY/10A

(@) @i & Ui gt & fg,

55

) o & fg, #ife A gu B A
Wam i wiikg Y s B

{d) B W .33W TC JHAH % HRO, B
g R g fafae wilEE = ogme
1 F e

109. TF HWA A 4 Tadt § BH W R B

mA S fmm B 3 wmm wr 3w
aHa 399 w0 form fafefae & @
FH-H wE widem I ey #)
GIERIERE YN

(q) B Y F & foq ot ad R
% I FmEl % g w1 antm
T fen mi wiiw A st B S dim
H1E wlRerTs Ty a8 2 -

(b) B EWHE & foru yram w3 F g
Teft ® wifs A 3 B & N
faafira dfaer

(c) A I ge F Tedr w1 A T
I wEA N @R gmET 6
e T e WA '

(d) B, A @ ew w0 ¥ fau o 3
FiifF A3 wwr ) = R D
* ot | gfey TE fem an i
B3 31 A9 IS A

[P.T.O.
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- 110. Consider the following statements

with regard to protection in respect
of conviction for offences :

1. In the case of Sampath Kumar
vs. Enforcement Directorate,
Madras, it was held that it is
unconstitutional to give a
caution to speak the truth.

2. No person shall be prosecuted
and punished for the same
offence more than once.

3. No person accused of any
offence shall be compelled to
be a witness against himnself.

4. Criminal law in India can be
enacted retrospectively.

Which of the statements given
above is/are correct?

(@ 1,2 and 4
(b} 2,3 and 4
{c} 2 and 3 only

{d} 3 only

111. Which of the following statements

isfare correct with reference to the
concept of ownership?

1. When the subject matter of the
ownership is a physical object,
it is incorporeal ownership.

2. Co-rporeal ownership refers to
owning of rights as opposed to
physical objects.

3. When the owner's title is
perfect, it is called vested
ownership.

N-DTQ-K-NCY/10A

Select the correct answer using the
code given below :

Code :

fa} 1,2 and 3
(b} 2 and 3 only
fcj 1 and 2 only
fd) 3 only

112. Which one of the following human
rights instruments empowers
individuals aggrieved of violation of

rights to file petition in the Human -
Rights Committee?

(a) International Covenant on Civil
and Political Rights, 1966

{b) International Covenant on
Economic, Social and Cultural
Rights, 1966

{c) Optional Protocol I of the
International Covenant on Civil
and Political Rights, 1966

{d) Universal Declaration of
Human Rights, 1948

113. The assertion “What eannot be done
directly cannot be done indirectly”
refers to the doctrine of

{a} Colourable Legislation
(b} Pith and Substance
{c) Severability

(d) Waiver

56
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110. MUyl & fou Swfafy & gy & afgm
* ar # fafaflas e w fmr
Hifsm

1. ®qd FAR @M Fadd Fewnes,
R % ar A 9 Afufeife e
™™ o1 fF v Aem & fore S
& sraifaentie B

2. #\ﬁ\ﬂaﬁﬁ@@m&%%{q
w aX 4 fvw afmfE ik
gfoga =€ fem smemy

3. Torelt srooy & srfirges el oft =t
+ wut @ g waht @R ¥ R
|e TR T S wad|

4. 9@ ¥ swiite fafy @t speeh
srftrfafia fFan s awar 31

I FyA 3 F BE-T1/ Gh /8

(@ 1,234

(b) 2, 3 3R 4

() Faa 23R 3

(d) Fae 3

111, =g 6 HoheqT & vy # Fafafae o
T BH-T1/@ T Tl 2 /7

1. 3R @it ) frasg Wi Ty

2, @ 9% 0fd Wi §)

2. Wi w@nfir, ife sl ¥ T
foeg, afieml =1 @fis @Y =)
fafée = 21

3. IRk =nft =1 v f &, @ W@ PifRka
i F8 S gl

N-DTQ-K-NCY/10A
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o fr T g w1 WM W g W
EGLE

?:

fa) 1, 233
(b) Faw 2 AR 3
fo) FFA 1 3R 2
(d) %343

112, F=fefag 8 @ wR-@ & 7E afiER
U, ANl F fawem @ safdm
Hwar # Awe i wffy § aifem
Tftaet &l wife a7 27

fa) fafe 3R torfifts stfemd @@
w=wiEh wafde, 1966

() s, wwifds o wiepfow
sftrerrt W it afyer, 1966

) fufem it worfifes sfem w
: I vEleE, 1966 #1 A
TR |

(@) wFE sifaedl €t s e,
1948

113. 78 ffimem, ‘'St woma: W e o
Whar 3@ aweasd: Wt wadt fem oW
e, fra fagma <t Aifde =@ g7

(@) TTHE fqum
(b) | 3R qred

(c) geERefiaa
(d) SAfSH

[P.T. O.
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114. Which one of the following is not 116. To constitute false imprisonment
) 3 - ,
an essential elef’n'e ntin a Sm‘f or 1. the detention must be unlawful
damages for malicious prosecution? ;
2. the period for which detention
’ continues is material
fa) The plaintiff was prosecuted by 3.

the period for which detention
the defendant

continues is immaterial

4. the knowledge of the plaintiff

(b} The proceedings terminated in about his detention is material

favour of the defendant .
Select the correct answer using the

code given below :

{c/ The defendant acted mali-
ciously and not with a mere Code :
intention of carrying the law
into effect

{faj 1 and 2
b) 2 and 4
{d) The plaintiff suffered damage (b) an
as a result of the prosecution (¢ 1and 3
(d} 3 only

115. As a pgeneral principle of Law of
Contract, which one of the following
is mot an essential of a wvalid

117. Law of preventive detention can
provide for detention of any person

contract? . .
fa) at any time during peace or
war irrespective of the fact
. whether prociamation of
(a) Writing emergency has or has not been
made
(b) Competency to contract (b} only when a proclamation of
internal emergency is made
(¢) Lawful consideration and (¢) only when a proclamation of
lawful object national emergency is made
(d} only when India is at war with .
(d) Free consent any country
N-DTQ-K-NCY/10A ' 58
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114, Frafafes § @ S9-w & dogl afiris
#F THAH F 98 T v T T 87

(@) I +1 vk g aAfEen R
T

(b) HEATE Wfoard & vay ¥ wdafd g

(c) whoendt 3 qugdss &1 e o fafy
Hl YT § TR F AWE O § w1
et o

(d) A & fomEss i B
w1 33t v

115. e fafy & wwr fre & w9 A
Fefafas & @ FR-a1 ww faRme
Hfden & fore stravas a8 27

(a) GT
(b} wfe=l ¥ fore wgman
(c) Taftrgul sfwar ot fafgel sRem

(d) a3 g
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116. 31ay iy H nfsa F@ F g

1. ity = ffuReg @ @ afeg
2. Fordt orafty & forg frdu sl wan
- 9% URAM, ?
3, T efy & fog iy s/ @a @
| 9§ gnET T R
4. dE & s g ¥ am § 3=
qRET ®

3 Re M e W W W ad I
E TAH

(@ 13R2

(b} 2 AR 4

) 13R3

(d) *aa 3

- 117. e Bl i R=2fy v =afie & i

it

(@) W= a1 gg w & et Wit 3o,
W oA & g & smm &
e A T R A O R,

| 3qE R

(b) ¥a@ T WEU W EHd ¥ o
aTaRar 21maTd <t IgEm Y 1 R

(c) %ﬁﬁﬁ‘ﬁ%‘ﬁﬂﬂlﬁm%ﬁﬂ.

THR aqra 6 I f 18 2

'd) Fad oft I9FY W HHdA § I
“uwa et 3w & wmw g Y A
%

[P.T.O.
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118. Which of the following statements as
per the Constitution of India is/are
correct?

1. The State shall endeavour to
provide early childhood care
and education for all children
until they complete the age of
6 years.

2. It is a fundamental duty
of every citizen who is the
parent or guardian to provide
opportunities for education to
his child or, as the case
may be, ward between the age
of 6 to 14 years.

3. State shall provide free and
compulsory education to all
children up to the age of
14 years. .

Select the correct answer using the
code given below :

Code :

fa} 1 and 2 only
{b) 2 and 3 only
fc) 1 only

(d 1,2 and 3

119. Which of the following statements
with respect to Right to Know is/are
correct?

1. Right to Know in India can be
traced to Article 19 of the
Constitution of India.

2. In Dinesh Trivedi vs. Union of
India case, it was held that the
citizens have absolute right to
know about affairs of the
government.

N-DTQ-K-NCY/10A

Select the correct answer using the
code given below :

Code :

faj 1 only

(b} 2 only

fc) Both 1 and 2

{d) Neither 1 nor 2

120. Which of the following statements

isf/are correct in connection with
malicious prosecution?

1. Malice is to be inferred from
the acquittal of the plaintiff.

2. Malice is not to be inferred
from the acquittal of the
plaintiff.

3. The plaintif must prove
independently of the acquittal
that his prosecution was
without reasonable and
probable cause.

4, The plaintiff is not required to
prove that his prosecution
was without reasonable and
probable cause.

Select the correct answer using the
code given below :

Code :

fa) 3 only
(b} 2 and 3
{c) 2 and 4

{d) 1 and 4
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118, ‘9@ & HlawH ¥ ogan, Pefafa # & DA R Mo W o W @ Tw
®H-01/Y F97 T 2/87 T
‘ 1. T WA IeqEen § off a9t
F, 3 6 94 1 ag T A 7, R
I dE-tE @ fien ww wm w fa) F¥=A 1
ETS
i lm ) o
2. W 3IW T W, S
g A T (e 13 23
Y 2 & 9% o a1 @ wiuew, @ - (d) Idq1smad2
R A, H6A 14 A ey aw '
. P 9 % st T B 120, Pyt afiT & e # Frafifea
- 3. U™y wff ¥ W 14 9¥ @® 6 q D91/ wo T /R
g 7 IR AR AfEw fren sw 1. T % I @ W ¥ RiR
RAAY ITTAM TTET STl 8
R Ru o w o W EE I 2. I % qNgw B WM ¥ ARy W
gfiw A A ST ST |
3. @ % vy A9 ¥ oA ¥ QT
E frg ® @ we e
(@) Faw 132 o ot ghmge @1 amems
FHRU F T 71
(b) Fad 2 3R 3
4. = # T g FO H aEvEed
c) I 1 T 3 T saw afiem R frd
(d} 1,231"'-(3 gﬁﬁﬁmmmﬁ@m
S
119. I ¥ 3ER F gl § Prafafea # A R e o = o R e W
FH-T1/8 FYT @l §/87 gfu .
1. 9Ra # 9 & AR A owia &
R % w7t 19 ¥ %=
mmm%| {a) Fad 3
77 AWPyifa G e & amit
# Tl T B AR A o (c) 234
iR ) (d) 13fTa
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mmma%azwﬂmgﬁm@ﬁaﬁaﬂqmmmmw@ﬁ

2.5t 1. : N-DTQ-K-NCY giteror gieerem argsn
mm32481 |
Tiierur gt
farfa
awg ; 2 v : quifs : 300
FIIW

1. witen wrew B3 F g 918, AW W vl giae i ugare oave w | TR g wig fam e, wer
T G g YR g wyAiw anfe A ) @R T 2, a9t 3@ wd wdieor gieet @ wew wi)

2. IW-UAF | WA W T aligw giEem sgwn A, B, C w D wenfeufy we ww @ geag it

3. 3@ wlaw g W owg # fig o oAmw F Ul w9
sz fera &) wlaw gfem W o Fo 7 ford)

4. 3w vhaw g § 120 waiw (3w) e §) weds gew R of st 36t § ow R W wwiw §
TRyt (3) Ry g ) 3901 @ o T A A o, B om am-we Wit won 9w 81 AR et
e o 5 uw @ v Yo G €, o oW weget W sifea Wt S e wETaw @) s s & T
T T @ TR T R

5. 3G 39 @ T e ¥ R Im-wEs ©d difR w &) Sw-wes § Ry g fdw Ry

6. ®ft ! & 3% wUA )

7. 360 wERl % o0 whem g % Rl ywint ¥ I SW-UNE W ARG FON YE R, ATH FAN
-1 % T ME s ¥ IgER §5 T swm-we d 31§ '

8. W ST TR T F ITEF [ AQ F A€ A W F W W HAR TH-UAF sferw @ T
R AT W e giEem @ e A S 3

9. &= FM % fy v wdyw gemm F o A wom 2
10, TeR 9 & fomo gum .

gAY wy-wEt # aftgem g Ry o em s & forg gue Rar wmem

(i) TAF W F frg =ww Aefeiw T §) Iefiean g0 veiw W & frg R e ws ew s % R v g
e frg o o7l = weR-TaE (0-33) <vs & w0’ FRT O]

(ii) IR # Ifiean uw § wAftes I 20 R, W TR TerE I AR S, Tui R g 3wl 4 9w s e
B 2, R sft 39w F fog sudwigen @ s @+ gus e Som|

(nl)uﬁmmaﬁéquﬁﬁmm%mmﬂmmmwﬁﬁmm% @ 7w v ¥ fag
wIE gog TE R wmom)

T TH ST UE T YRrH G H T N WY a9 ah A Wit

Note : English version of the instructions is printed on the front cover of this Booklet.
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